1.4 Tables of Related Values

Row —o —vow relationsips
1.

Bonus (B) $500 $120 | $160 $175 | $180 | $190 | $200

3254 120

salary (5) | $300 | $320 | $360 [$37% [$38p £290 3400
* The pottern s add 200t 1 o

a. Express the relationship between the quantities in words.

The Sat&g )= efbw:uk to +Hne
bonts (B) plus 2,00

b. Write as a formula.

S=RB+200

¢. Fill in the missing numbers. 75
= 0
% Use he formulo, B 5?\(135?1000
55 =370
3. Candy bars 5 ’{-“ 05 't-[,i) 3 10 12 15
// 2

cost (€) | s3.08 [%3.60 420 64 g0 [¥5.00[%7.26[1.00

Qatfern s muttiply L0 Hywus top vow

a. Express the relationship between the quantities in words.

The Cost(c) s equuar o O.60O

Kmas +he number of Czw\d\j bars (103

b. Write as a formula.

C=0.L0b

c. Fillin the missﬂ% numbers.
s USe The Tormula

People (p) | 4y 5 6 8 10 50

5 j £
H"E};‘)"gs £ 0% 1R = 16| 20100
Podtern s & Hinus +op row

a. Express the relationship between the quantities in words.

The hot o‘l<933 (H) s eqyual +o fwice
+he people,(ps‘

b. Write as a formula.
H =2 )
c. Fill in the missing numbers. »* (US2 ‘QVW\\JQ
H=2 P Lo p="7
27
Y
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